
TM-UI-018 Universal Pole Platform Pad Replacement Procedure Revision No. 3  Issue Date:23/04/19  

 

Printed copies are uncontrolled  Page 1 of 3 

 

 

 

  

Universal Pole Platform 

Pad Replacement Procedure 



TM-UI-018 Universal Pole Platform Pad Replacement Procedure Revision No. 3  Issue Date:23/04/19  

 

Printed copies are uncontrolled  Page 2 of 3 

 

INSTALLATION PROCEDURE 

 

1. Remove the four M6 nylock 
nuts using a M10 socket or 
spanner, then pull out the four 
M6x35 set screws. Discard the 
nylock nuts; 

2. Remove the four pads; 

3. Insert the new poly pads, with 
the blue pads to the top of the 
platform (deck side) and the 
orange to the bottom. Ensure 
the angled section on the pads 
are pointing inwards; 

 

4. Next, ensure the pads are 
firmly seated within the frame; 

5. While holding the pads in place, 
drill a 6mm hole through each 
of the four pads; 

6. Insert the set screw through the 
frame and pads and firmly 
tighten the new M6 nylock nuts. 

 

 Note:- Universal Pole Platform is Upside Down in the Above Image 

  

M6 Nylock Nut 
M6x35 Set Screw 



TM-UI-018 Universal Pole Platform Pad Replacement Procedure Revision No. 3  Issue Date:23/04/19  

 

Printed copies are uncontrolled  Page 3 of 3 

 

REPAIR 

The end user must not repair or modify any component associated with this device without written permission from TMAC. 

If repair is required contact TMAC. 

 

 

TMAC 

 

45 Enterprise St Cleveland 

QLD  4163 Australia 

Tel: (+61) 07 3826 6000  http://www.tmacgroup.com.au/ 

DEFECTS / WARRANTY 

DEFECTS 

Goods are warranted to be free from defects.  Provided they have been used strictly as recommended and subjected only to 

fair wear and tear, Goods (including parts within) which are found to be defective within 90 days after delivery to the Buyer will 

be repaired or replaced at the option of the Seller and at its expense.  Repair or replacement by the Seller is the exclusive 

remedies of the Buyer.  

WARRANTY 

 

To the maximum extent permitted by law, the Seller makes no warranties, either express or implied, as to merchantability, 
fitness for purpose or otherwise with respect to the Goods other than in paragraph above and as required by statute. The 
Seller is not liable for any prospective profits or special, indirect or consequential damages or any general loss or damage, or 
for any expense resulting from use by the Buyer or others of defective Goods.  The Seller’s liability is limited to no more than 
the sale price of the Goods plus replacement delivery charges. Prior authority for the return of goods is required by the seller.  

Please contact the seller by email sales@tmacgroup.com.au, phone 07 3826 6000 or fax 07 3826 6066 for claims related to 

defective / warranty of goods provided. 

 

FOR THE FULL TERMS AND CONDITIONS PLEASE REFER TO TMAC “STANDARD TERMS OF TRADE”  

 

http://www.tmacgroup.com.au/

